CH7]5H2 26 Z1H2020. 3. HESE)

- S0, NO, (o co PM-10 PM-2.5
(0.02ppm/14) | (0.03ppm/1%) | (0.06ppm/8X]) | (9ppm/8AIZT) | (50pg/mi/1d) | (15pg/m/1d)

4L 0.003 0.012 0.038 0.4 27 12

AALE 0.003 0.015 0.035 04 31 15
URH 7| XS WAL
Mug | 20204 39

=xyE [S02] [NO2] [03] [coj [PM10] [PM2.5] ¥ B2

e B [ ND|AM| ®BF [AND|AM| B2 | M2 | AN | B2 | D | AN| BI |HD|AN| BR |HND|ANM| "R Elnl A% " Elnl B
1 0.003 |0.003|0.002| 0.012 |0.021|0.006 | 0.031 | 0.054|0.006| 0.4 0.7 04 24 33 16 13 20 7 25 25 el 11 24 0.6
2 0.002 0.003(0.002| 0.009 |0.020 |0.004 | 0.041 [ 0.051|0.023| 0.5 0.7 0.3 27 39 17 18 31 11 =2 =2 =825 18 2.8 0.7
3 0.002 |0.003|0.002| 0.012 |0.019|0.006 | 0.030 | 0.046(0.017| 0.4 0.5 03 20 37 11 9 26 3 = 5 S5AM 14 34 0.6
4 0.002 0.002(0.002| 0.007 ]0.013 |0.003 | 0.037 [0.049|0.014| 0.3 04 0.3 19 30 10 10 17 5 = =2 MEAM 21 41 0.5
5¢ 0.002 |0.003|0.002| 0.011 |0.026 |0.003 | 0.043 [ 0.052|0.026| 0.5 0.7 03 30 49 12 20 32 9 = =2 MEM 16 27 0.6
6 0.003 0.004(0.002| 0.017 |0.029 |0.011 | 0.036 | 0.065|0.012| 0.5 0.7 04 26 40 18 17 26 10 M ol 28N 11 2 0.5
7 0.002 |0.003|0.002| 0.016 |0.034|0.009 | 0.031 [0.050(0.010| 0.4 0.5 04 22 38 14 15 29 9 253 285 MEM 11 2 0.6
8 0.002 0.003(0.002| 0.013 |0.024 |0.008 | 0.040 | 0.060|0.018| 0.4 0.5 04 23 36 16 13 25 9 = = MEAM 13 25 0.8
9l 0.003 |0.004|0.002| 0.016 |0.025|0.011 | 0.028 | 0.042|0.009| 0.4 0.6 04 21 33 17 13 21 8 sS85 =25 MEM 1.5 2.6 0.6
10¢ 0.002 0.003(0.002| 0.011 |0.016 |0.007 | 0.037 | 0.053|0.025| 0.5 0.6 04 16 32 6 11 20 2 2M 24 8= 16 31 09
11¢ 0.002 |0.003|0.001| 0.011 |0.024|0.005| 0.033 [0.045(0.016| 0.4 0.5 0.2 22 36 11 9 18 2 22M 22M A 16 31 0.6
129 0.002 0.003(0.002| 0.014 |0.022 |0.008 | 0.032 | 0.054|0.017| 0.3 04 0.3 23 30 18 7 14 3 MM MY M 24 12 22 0.7
139 0.003 |0.004|0.002| 0.015 |0.026 |0.008 | 0.038 | 0.064|0.007| 0.4 0.6 0.3 36 78 17 17 47 6 il el 282N 13 25 0.7
144 0.002 0.003(0.002| 0.008 |0.012 |0.005| 0.042 [0.051|0.034| 0.3 04 0.2 19 35 6 6 15 1 285 285 M 24 33 11
15¢ 0.003 |0.005|0.002| 0.009 |0.020|0.005| 0.044 |0.051|0.023| 0.4 0.6 0.2 35 51 15 12 23 4 MM MYAM 22 M 27 54 0.9
16 0.002 0.003{0.002| 0.009 [0.013 [0.005 | 0.042 | 0.048|0.034| 03 03 0.3 17 27 12 7 8 5 MM MYM 28N 21 31 13
17¢ 0.004 |0.007|0.002| 0.014 |0.025|0.009 | 0.042 |0.061|0.018| 04 | 09 | 03 26 46 | 16 9 17 | 4 LA A VY 18 33 0.8
18 0.003 |0.004|0.002| 0.017 |0.035/0.009 | 0.046 |0.072|0.012| 04 0.6 03 42 63 19 21 37 8 E =AM 2M 13 25 0.5
19¢ 0.002 0.004(0.002| 0.011 |0.017 |0.006 | 0.048 | 0.069|0.028| 0.3 0.5 0.2 46 141 10 14 28 1 MM MYM 282N 23 45 0.5
20¢ 0.003 |0.005|0.002| 0.011 |0.023|0.008 | 0.037 [0.051|0.014| 04 0.5 03 36 56 13 5 7 3 E =AM MEM 15 28 09
21 0.002 0.003(0.002| 0.013 |0.021 |0.008 | 0.045 [ 0.062|0.021| 0.3 04 0.3 33 48 19 7 13 2 A A 282N 14 25 0.7
229 0.002 |0.003|0.002| 0.011 |0.022|0.008 | 0.051 [ 0.073|0.024| 0.4 0.5 03 47 80 31 19 34 10 5 5 S5M 1.6 3 0.8
23 0.003 0.004(0.002| 0.012 |0.026 |0.007 | 0.040 | 0.061|0.016| 0.3 0.5 0.3 29 37 23 11 17 6 ek el o 15 33 0.7
24 0.002 |0.003|0.002| 0.014 |0.022|0.008 | 0.043 | 0.064|0.022| 0.4 0.5 03 30 39 21 14 23 9 sds s4s 25 11 18 0.5
25 0.003 0.004(0.002| 0.015 |0.029 |0.009 | 0.041 | 0.069|0.015| 0.4 0.5 0.3 30 45 20 17 27 10 A ol 28N 11 23 0.7
262 0.003 |0.003|0.003| 0.020 |0.030/0.010 | 0.024 | 0.036(0.010| 0.5 0.6 04 27 43 18 18 30 13 = = 2M 0.9 13 0.5
27 0.003 0.004(0.003| 0.012 |0.021|0.007 | 0.030 | 0.038]0.023| 0.5 0.7 04 21 42 7 11 24 5 | ol ek 12 19 09
28¢ 0.003 |0.003|0.003| 0.010 |0.016 |0.006 | 0.035 | 0.038(0.024| 0.4 04 04 31 42 12 10 16 7 22z 2E2s 282N 2.2 38 0.8
29 0.003 0.004(0.002| 0.010 |0.016 |0.007 | 0.035 [ 0.051|0.016| 0.4 0.5 0.3 23 32 19 7 12 5 = = 28N 15 25 0.6
309 0.003 |0.004|0.003| 0.011 |0.015|0.009 | 0.040 [ 0.057|0.024| 0.4 04 0.3 24 29 17 8 11 4 2= 2= 2N 12 21 0.6
31 0.003 0.004(0.002| 0.012 |0.019 |0.008 | 0.040 | 0.064|0.017| 0.4 0.5 0.3 23 33 14 9 12 6 s4HE sHs S 13 23 0.7
Iz 0.003 0.012 0.038 0.4 27 12 2 1.5
Elpn 0.007 0.035 0.073 0.9 141 47 =l 54
ESpol 0.001 0.003 0.006 0.2 6 1 =43 0.5




